FYENWSEBNERZEDLD=HDTr—k(H25)

(MR EZFE RER)

90

80

70

60

50

40

30

20

1

|

04 =3

B2 81

o Ll =
a b c f g h
FHiE N B % FMEE %
SRMBEEL Z5LELDLESITADNT S
4 &£TH =L 81 4 £TH LOLESHFABDLLTLS 70
a 3 oLy 18 3 LWoL&STADHLLTNS 28
2 HFEY oLk 0 2 HEYLTLEL 3
1 LA 1 1 LTLLy 0
RizbeRL KEORMARLA
4 £TH UhKLLTLVS 69 4 £TH =OLAHSE 76
b 3 BhHLLTLD 29 3 f=OL#F 20
2 HFEY GhELTLEL 3 2 HFY -OLAH TG 4
1 AAKLTOED 0 1 OLAHTEAEL 0
#EROMBELS DD VWADVDEIZRERTOIEELLIEILT
4 KKbhd 56 4 ETHKITET 39
C 3 bhd 31 3 KLFaY 33
2 HEYbhoKL 1 2 HEY IFhesiEn 23
1 b 1 1 (TS 6
EhicdHineo Ko T3 FERNTOM NPT
4 EHALTED 64 4 ETH 585 83
d 3 TE3 31 3 &5 Ht5 10
2 HEYTELL 5 2 HEY TS5BLHHEL 6
1 TELZW 0 1 BHbhE 1




